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Case 1: Client provides a callback object adapter; behind Glacier2 , there are two servers: ServerA/ServerB. Client 

connects to ServerA/ServerB with the help of Glacier2 router and then ServerA/ServerB make a callback to Client

’

s 

callback object.

Altogether, there are 5 connections among Client/ServerA/ServerB and Glacier2 router. 

The Client

’

s config file is as follows:

Ice.Default.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000

ObjectAdapterA.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000
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Case 2: Client provides two callback object adapter2: ObjectAdapterA/ObjectAdapterB; behind Glacier2 , there is a 

server: ServerA. Client connects to ServerA with the help of Glacier2 router and then ServerAmake callbacks to 

Client

’

s  two callback objects.

Altogether, there are 5 connections among 

…

.

The Client

’

s config file is as follows:

Ice.Default.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000

ObjectAdapterA.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000

ObjectAdapterA.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8001
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Case 3: There are two Clients which seperately provide a callback ObjectAdapter; behind Glacier2 , there are two 

servers: ServerA/ServerB. Client connects to ServerA/ServerB with the help of Glacier2 router and then ServerA/ServerB 

make a callback to Client

’

s callback object.

Altogether, there are 6 connections among Client/ServerA/ServerB and Glacier2 router. 

The ClientA/ClientB

’

s config file is as follows:

Ice.Default.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000

ObjectAdapterA.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000
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Case 1: Client provides a callback object adapter; behind Glacier2 , there are two servers: ServerA/ServerB. Client connects to ServerA/ServerB with the help of Glacier2 router and then ServerA/ServerB make a callback to Client’s callback object.
Altogether, there are 5 connections among Client/ServerA/ServerB and Glacier2 router. 
The Client’s config file is as follows:
               Ice.Default.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000
               ObjectAdapterA.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000
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Case 2: Client provides two callback object adapter2: ObjectAdapterA/ObjectAdapterB; behind Glacier2 , there is a server: ServerA. Client connects to ServerA with the help of Glacier2 router and then ServerAmake callbacks to Client’s  two callback objects.
Altogether, there are 5 connections among ….
The Client’s config file is as follows:
                 Ice.Default.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000
                ObjectAdapterA.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000
                ObjectAdapterA.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8001
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Case 3: There are two Clients which seperately provide a callback ObjectAdapter; behind Glacier2 , there are two servers: ServerA/ServerB. Client connects to ServerA/ServerB with the help of Glacier2 router and then ServerA/ServerB make a callback to Client’s callback object.
Altogether, there are 6 connections among Client/ServerA/ServerB and Glacier2 router. 
The ClientA/ClientB’s config file is as follows:
               Ice.Default.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000
               ObjectAdapterA.Router=Glacier2/router:tcp -h 5.6.7.8 -p 8000



